Numatic,  International, Chard, Somerset, TA20 288, 231856
Tel: 01460 68480 Fox: 01460 68560 ‘ DRAWING:EXP369 15501
Sales - Tel: 01460 68600 Fax: 01460 68458 05/12/97




MODEL No. Wv470

SPARE PARTS

POS. RART No  DEBCRIPTION POS. PART No  DESCRIPTION
1 227059 Fixed Handle 20 | 219107 No6 x 5/8" Long Plastite Screw
2 | 325020 Lid 21 | 219090 M4 x 8mm Long Sems Screw
3 | 219003 M5 Form A Steel Washer 22 | 219101 NoB x 1/2" Long Plastite Screw
4| 219041 No8 x 3/4" Long Plastite Screw 23 | 220564 | Terminal Block Moulding (2 Core Machines)
5 | 220670 Switch Cover 220472 Terminal Block Moulding (3 Core Machines)
6 | 220286 Switch 24 | 320303 300mm Long Green/Yellow Link Wire
7 | 220144 Suppressor 25 | 219566 M4 x 6mm Long Taptite Screw
320502 80mm Long Black Link Wire 100V & CSA 40 | 209050 Filter Grid
320503 90mm Long White Link Wire Machines 41 | 207102 White Filter & Gasket
8 | 227008 Cable Clamp 50 | 220235 Float Grommet
9 | 225017 | Top Motor Housing (No Print) 51| 225083 Sealing Ring
225017\NR | Top Motor Housing (Printed Red Numatic) 52 | 207011 Float Gasket
225017NB | Top Motor Housing (Printed Blue Numatic) 53 | 225087 Float Cage Support
225017NG | Top Motor Housing (Printed Green Numatic) 54 | 206026 Polyprop Ball
225017NY | Top Motor Housing (Printed Yellow Numatic) 55 | 225086 Moulded Float Cage
10 | 202030 Top Motor Gasket 56 | 207055 Gauze Filter
11| 220561 230V Thermal Overload 60 | 20638V 3/4" Tube End Stop
220562 115V Thermal Overload 61 | 206362 Locking Ring
320285 110mm Long White Motor Link Wire(100V Machine Only) 62 | 20637V 1" Tube End Stop
12 | 205060 230V Motor 63 | 219567 Spirol Spacer
205062 115V Motor 64 | 220033 M5 x 35mm Long Pozi Pan Machine Screw
205063 100V Motor 65 | 219003 M5 Form A Steel Washer
13 | 320296 340mm Long White Link Wire 66 | 418736 Pivot Hondle
14 | 202031 Bottom Motor Gasket 67 | 219105 No8 x 5/8" Long Plastite Screw
15 | 227115 Toggle 68 | 418735 Right Hand Handle Support
16 | 227002 Bottom Motor Housing 69 | 418733 Left Hand Handle Support
17 | 219104 No8 x 1" Plastite 2-50 Screw 70 | 225085 Bog Connector
18 | 220132 Stress Relief | 2271192 Contciner — Red
19 | 220231 Mains Cable (UK. Plug) 227193 Container — Blue
220252 Mains Cable (C.EE. Plug) 227194 Container - Green
220500 Mains Cable (C.S.A. Plug) (2 Core) 227195 Container — Yellow
220506 Mains Cable (C.S.A. Plug) (3 Core) 72| 204071 150mm Black Wheel
220058 Mains Cable (No Plug) 73 | 227011 Black Hub Cap
299039 Mains Cable (Australian Plug) 74 | 204067 50mm Twin Wheel Castor
220466 Mains Cable (15 Amp Plug)




